H

18
2H
3H
48
5H
6H
78
8H
9H

108

118

128

138

148

150

168

17H

18H

190

20H

21H
22H
23H
24H
25H
26 H
27H
28H
29H
30H
31H

JE.[7]

SE

NNW
NE
NE

NNE

NNW
NNW
NNE

NNW
NNE

WSW
WNW

WNW
NNW
NNE
NNE
NE
NE

NNW
NNE

NNW

JEBE

(m/s)

14
2.2
20
14
2.0
14
4.3
4.5
2.2
1.2
1.6
1.1
1.3
1.9
1.7
14
1.9
1.9
1.7
2.0
1.3
1.9
14
2.9
3.3
2.0
2.0
1.1
1.3
1.3
1.3

KB

S

S

N
WSW
ESE

NNE
NNE

NW
NNE
SSW
WNW
NNW

NE

WNW
SW

SW

NNE
NNE
ENE
NNE
NW

WSW
SSW
SSW

(m/s)

1.8
10.7
11.0
6.9
1.8
6.4
15.3
25.7
11.5
9.5
9.2
6.6
1.2
16.8
14
6.9
10.2
10.4
10.2
9.5
14
8.7
6.7
9.9
9.4
9.6
9.5
4.6
4.7
43
9.6

231
223
22.1
204
19.3
17.7
18.6
18.8
16.8
19.6
19.3
16.3
16.9
17.4
15.8
16.4
19.0
17.2
16.3
17.0
14.6
19.7
16.4
16.4
17.2
16.3
17.0
14.9
15.5
16.6
17.7

17.7
20.1
18.4
15.4
15.5
15.2
16.9
16.2
12.6
10.0
8.9
9.6
10.3
12.6
11.0
10.0
14.1
11.1
10.7
10.4
7.7
8.5
9.4
14.0
14.0
14.4
11.6
8.4
9.1
8.8
10.5

2009 £E (Ehk 21 ££)10 A DS R Lk

TR %t
RIE Tty &S RIE BE (B@)

70.5
92.7
61.6
58.5
67.7
817.2
82.3
79.0
58.8
91.9
92.6
51.8
62.9
62.2
99.0
56.0
62.0
44.7
98.3
40.0
50.0
43.4
46.2
49.5
96.7
81.5
920
69.1
72.6
69.4
7.9

(%)
98.5
97.9
98.0
95.9
894
920
948
93.5
94.7
930
92.6
924
90.9
904
96.1
88.4
88.8
84.9
89.0
85.8
88.4
88.8
86.8
73.5
79.3
92.2
86.9
922
96.6
93.8
93.8

22.9
77.4
14.1
4.4
38.6
79.7
70.9
39.4
13.3
0.5
6.0
0.5
19.4
6.6
3.0
8.1
17,5
0.5
11.6
0.5
0.5
0.5
0.6
29.0
28.3
64.0
4.6
0.8
35.4
31.6
39.0

X3 KIE =g
(%) (hPa) (mm)
83.0 (10174 | 0.0
79.1 11008.0  22.5
81.9 110094 05
719 (1016.0 | 0.0
66.7 |10174 | 0.5
69.9 1017.0 3.5
76.1 11009.7  27.5
79.8 1 999.6 @ 20.5
77.2 11010.8 | 0.0
67.4 |1016.8 | 0.0
60.1 {10204 | 0.0
56.4 10182 0.0
55.2 110143 0.0
58.3 |1013.7 | 25
61.1 |10174 | 0.0
59.0 1015.2 0.0
584 1007.7 0.0
56.7 |1007.0 | 0.0
53.9 |1009.8 | 0.0
521 /10142 | 0.0
48.8 11020.2 0.0
49.0 |11020.2 | 0.0
46.0 |[1019.1 | 0.0
455 10189 0.0
49.1 11018.1 0.0
56.7/10100 | 7.0
63.5 10139 | 0.0
61.2/10241 00
65.7 11023.7 0.0
68.8 |1023.8 | 0.0
69.0 |[1021.5 | 0.0



2009 & (*ERE 21 £E)10 AR A

2R

P ] JEL 32 (m /)

)
TR E(m/s)

TR A

Sum(°C)
xR (%)
EMITE(%)
BESIE(Pa)
I 3 S[E (hPa)

= (mm)

RZEAM
ENDIEE]E S
(%)
JE\ R £8
(%)

NNE

NNE
21.9
SW
43

1.9
N
17.4
62.0
62.8
1015.3
1009.6
2.7

NE

13.9
WSW

4.7

5PN
25.7
NNE
14.9
NNE
29.0
98.5
85.6

1026.2

1020.3

ENE
6.0

43

27.5

WNW

2.9

9.4

FFZl
08.01:28

08.02:01

01.12:29

01.07:16

01.10:00

29.07:54

29.07:47
07

ESE
1.9
NW
5.0

g i

1.7
0.5
440

987.5

982.0

SE
1.3
NNW
6.3

SSE
2.1

14.5

i5¥7 BE

21.06:14
10.15:10
24.09:10
08.02:04
08.02:04
84.5

S SSW

2.7 2.8
CALM

2.0



